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1) ROFEAZEZMELGS, (2R X108)

1) 3x—5x=6 2) 4x+9=3

3) 0.3x—2. 2=0. 5x 4) £2-0. 2=1

5) 14x+21=18x—7 6) 1.2x+0.7=0.5x—3.5
7) ZXH1_8-2x _5ix 8) —(x+5)+(4x—1)=9

8 4 2

9) (2.5x—1.71D+(4.1-0.9%)=4 10) (x+1):4=(4x+1):12
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2) ROFEXZMEGSL, (2R X10%8)

1) 4x—8=2x 2) 11x+2=-9

3) 4. 1x+5.6=3. 9x 4) 2"4—5%

5) 2.2x—1.8=8.1x+0.9 6) 23x—9=8x+11

7 Hx+5)—2(x—2)== 8) (9—6x)+(7x—5)=2

9 1.7(x—1)—1.1(x+3)=0. 4 10) 3(x—2)+6(x+1)=9



NTHERADER(BFRREIFH
1£—11A—4:8—KBE A H
K4
3) ROFEAZREEIL, (2R X108

x+3

1) 1. 7x—0.5x=—-2.4 2) 4x+1 _T=O' 5
3) 1.03x—1.12=0.96x—1. 33 4) 6x+2=3x+8
5) 6(2x+1)+2(x+4)=2(x—5) 6) (94+2x)—(7—5x)=-5

7) 0.6(1—3x)+0. 8(5+2x)=0. 3x+0.1 8) 5";‘+3"2‘9=";1

9) 3.2x+1.5+(0. 7—2x)=-0. 2 10) 0. 2:0.5=4:(x+2)
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4) ROFEXZMEBSL, (2R X108E)

1) 11x—9=5x—27 2) 2(x+1)—5(x—1)=x-5

5) (7x—12)—(3x+5)=3 6) 3(2x+1)+2(2—x)=11

7) (1.3-0.5x)+(0.7-0.3x)=—1.2  8) 2452«

9) 4(0.2x+0.1)+3(0. 1x+0.2)=3.2 10) 7:(x+3)=35:(x+43)
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5) ROFEAZEMERSL, (2R X10%)

1) 9x—1+3(7—2x)=—1 2) x—2+%=5

3) 2(0.2x—0.5)—(0.3x—1.2)=0.8 4) (9x+21)—(11x+15)=—4

— 3x+2__6x+2__3x+7
5) —(x+5)+2(x—1)=—(3+x) 6) 15 5 = 10

7) (0. 8x+0.6)+(0.2x—0.5)=-0.9 8) 7(4x—1)—5(@x—4)=x—11

9) (1.8x—-0.5+(1.1-1.2x)=2.4 10) (x—5):12=0.5:1.5
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1) ARE—m@E (2K X10%)

— —_3
1) x=-3 2) x= >

6) x=—6 7) x=275

2) KiE—MRE (2R x10%#)

1) x=4 2) x=-1

6) x=g 7) x=6

3) Kig—EE (2R x108)

1) x=—2 2) x=§

6) x=-—1 7) x=9

4) KE—RE (2Rx10#)
1) x=—3 2) x=3

6) x=1 7) x=4

5) £E—ME (2R X108
1) x=-—7 2) x=5

29

6) x= 3 7) x=-—1

3) x=-—11

8) x=5

3) x=—28

8) x=-2

3) x=-3

4
8) X=zr

3) x=1

8
8) X=rg

3) x=6

8) x=-2

H
13

4) x=——  5) x=7

9) x=1

A

5

10) x=2

=

4) x=2 5) x=-3

9) x=9

A

4) x=2

6

10) x=1

B) x=-2

9) x=—2 10) x=8

A
4) x=-3

9) x=2

A

5) x=5

10) x=7

=

4) x=5 5) x=2

9) x=3

10) x=9



